Druckverlust pro Sonde doppel-U in kPa

Druckverlust VARIO @ 50 bis PN25 doppel-U (2 Kreise parallel)

mit Wasser @ 15°C

5 HakaGerodur

120.000
—3000 I/h 36001/h —42001/h —4800I/h 54001/h —60001/h =—6600I/h

110.000 1
100.000 1
90.000 |
80.000 |
70.000 |
60.000 |
50.000 |
40.000 T
30.000 |
20.000 +
10.000 1
0.000 1

210 m 220m 230 m 240 m 250 m

Sondenldnge

——30001/h 16.935 18.009 19.154 20377 21.683

3600 I/h 23318 24.797 26.373 28.056 29.854

——122001/h 30.561 32.497 34.563 36.767 39.123

——128001/h 38.630 41.077 43.687 46.473 49.449

5400 I/h 47.500 50.508 53.716 57.140 60.798

——60001/h 57.149 60.766 64.625 68.743 73.143

——6600 I/h 67.555 71.831 76.390 81.257 86.456
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